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 Investigate the values of A and p 5o that the equations x + y +z =6,
x + 2y + 3z = 10, x + 2y + Az = p have (1) no solution, (2) a unique
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Two equal uniform rods AB and AC, each of length [, are freely jointed
at A and rest on a smooth fixed vertical circle of radius r. If 20 is the
angle between the rods, then find the relation between I, r and 6, by
using the principle of virtual work. i0
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Find the ‘sufficient condition for the differential equation
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A particle is acted on by a force parallel ta the axis of y whose f
acceleration (always towards the axis of x) is py and when y = a, it is & 8
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projected parallel to the axis of x with velocity J: Fmd(-)@g
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